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MBS A A
AN
FoUXYMLTo AHE B (e @
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il i~ o B2
T A A 22,705,955 22,003,250 702,705
= 10,856,000
=l 2,789,000
= 7,320
= 1,114,800
2 7,938,835
ML HR 6,329,867 3,197,701 3,132, 166
= 969, 000
3 2,489,000
= 87,300
2 2,784,567
AN YALTO FFH B 4,662,080 1,300,000 3,362,080
= 969, 000
=l 1,744,000
2 1,949,080
SV EREE RS E 3,013,080 1,300,000 1,713,080
=l 1,744,000
2 1,269,080
401 AlAHIL 20| 3,013,080 1,300,000 1,713,080
=l 1,744,000
2 1,269,080
01 Al&H] 2,704,000 1,297,000 1,407,000
OYR BIAX LML TEHIAI (2R E) 2,004,000
3 1,504,000
2 500,000
OFIE BYEMLAY 200,000
OSHXI PR LA+ E 2T AL 500,000
02 22!l 300,000 0 300,000
0YQ - BIUXYASTHRAIY 22l (2%
=) 300,000
=l 240,000
2 60,000
03 Al&SOHH| 9,080 3,000 6,080
OYL - AN YA STHIAIY (2RHATE)
2,522,000, 00021 +0. 36% 9,080
MSPYIEBRIA AL 1,649,000 0 1,649,000
= 969, 000
2 680,000
401 Al&HIL 20| 1,649,000 0 1,649,000
=2 969,000
2 680,000
01 Al&H] 1,649,000 0 1,649,000
OA4ZY JISFESEA 400,000,008 14! 400,000
= 120,000
2 280,000
ONFEBY GISTEAY B
1,249,000, 00021 * 14! 1,249,000
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SN ASEE AL
HE: AL
Sl AN YALTO HEN B CERL
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 G HlnE2
= 849,000
2 400,000
SHENSNDISY4E HEN 23 1,667,787 1,897,701 ~229,914
z 745,000
= 87,300
2 835,487
AARLTAE 2Y 197,358 204,701 AT,343
201 L2 187,308 194,651 AT,343
02 BB 187,308 194,651 A7,343
O+E 2 At 187,308
OXI5H421 42 Al (1001 & 2 )2 13
75,8002 #1650 2 12,507
OHBL LAY (5HER)8HI]13]
27,0002 #4071 2 %23 2,160
A=A (9HER)24 13
217,00021 2074 2 4,340
OS2 &+ A (5501 & =) H 13
283,920 *33000 2 93,604
OOS &4+ H A (1 E2) 20|
56,5202 x33074 A +43] 74,607
206 TWEH| 10,050 10,050 0
NRIE 10,050 10,080 0
ODISH+EHEANS LRS- YL
70,0002 ¥308t A 5,100
OnlSMLTASAEDY
5,0002 +3kg x3307H 2 4,950
SESQUUBTEANLAL 510,000 510,000 0
2 408,000
= 51,000
2 51,000
401 AIZHIL 2O 510,000 510,000 0
z 408,000
= 51,000
2 51,000
01 Al 506,400 504,900 1,500
OSESAMBILNLAL (3HA) 506,400
z 408,000
= 51,000
2 47,400
03 Al&=Chtl 3,600 5,100 A1,500
OSESAMBILNLA (3HA)
500,000, 000 %0.72% 3,600
AADAET AL N AL 481,429 650,000 £168,571
z 337,000
2 144,429
401 AIZHIL 2O 481,429 650,000 £168,571
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SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
e 337,000
= 144,429
01 Al&Hl 477,987 643,500 £ 165,513
OLRBETAENSA (5 L) 477,987
= 337,000
= 140,987
03 Al& =i 3,442 6,500 13,058
OARBETAENZA (5HL)
477,962,000 %0. 72% 3,442
MLrEHES 3,000 3,000 0
202 01H 2,000 2,000 0
01 =UH0iI 2,000 2,000 0
ON%=Z2 RO 2,000
203 R FETY| 1,000 1,000 0
03 AlEXYDET| 1,000 1,000 0
ON+ZHH QIR 1,000
ARDAZAENE ALY 355,000 350,000 5,000
401 AlEHIL2OHY] 355,000 350,000 5,000
01 Al&H 355,000 350,000 5,000
OARBATAENR ALY 100,000
OARBATALNEHAEUI| L
3,000,000 %2504 £ 75,000
OARBATAILHASIIZAH20HL)
2,000,0009! %2004 £ 40,000
OF=HelALEXAY  50,000,0008 204 £ 100,000
OSZEH20I L3N & XA (200H2)
2,000,0009! %2004 £ 40,000
ARDATAIEIISRRIAY 121,000 180,000 159,000
= 36,300
= 84,700
401 Al HI L2 OHY] 121,000 180,000 59,000
= 36,300
= 84,700
01 A& 121,000 180,000 59,000
OARBATAIERISR2IAI (12104 4) 121,000
= 36,300
= 84,700
T4 e 11,482,490 14,158,533 ~2,676,043
= 6,971,000
= 300,000
= 1,027,500
= 3,183,990
a2 HANLRY 705,722 739,493 ~33,771




Aot TAIE A
230t+=& 2el
ot XelAMd2g (ctel &
S BB (EH) - NEAY - BAS b HInE
ol &t o
StXelAld2g el 413,193 490,450 ANTT,257
201 2Et23| 339,601 281,151 58,450
01 AtSR2t2ldl 16,000 36,000 220,000
Oger=ZH| 14,200
OH2I=Xeldl 13,000
—ot=8& =Xl 130,000& =100 13,000
Odts&eiXl 8224l 300,000& x43] 1,200
o1l=l 1,800
Oxg= 60,0003 x10H 23] 1,200
O&gst 40,0003 *x10¥ x 13l 400
O&steRo 20,0003 *x10¥ =13l 200
02 222ZH| 323,601 245,151 78,450
o332= £ MA 276,100
Oot=HMeANEMI Q2 (B , BEsAIELE)
22,000,000& x12& 264,000
O&I|ItEE 3l 100,000 *13] 100
O=dHOUHA d=234d| 1,000,000& *12& 12,000
OH =l 1,396
OoAIEZL2HAHZHI(E
, 1632100 £ =123 1,396
(ONE=F=g=1E=IN}:]| 43,500
OIIAHANEF X 2l 8,100
—dBtE T S X 22| 400,000 =5CH 2,000
—SEISI 2L 500, 0003 =5CH 2,500
—NdSUESH 500,000 =2CH 1,000
—d=II7 X 2el 300,000& =2CH 600
—EJI7XZel 1,000, 000& =2CH 2,000
OHIINE s X 2] 5,650
—II2SHRANES 50, 000& *33H 1,650
—MIINELARE 20,0003 101 *108 2,000
—SLHAHAPCSIE TR 200, 0003 =54 1,000
—H=EH =4 500, 000& *2CH 1,000
O=&TNS S X2 24,950
—IN/TPEEI| A2F
1,600,000& 25 3,200
—TN/TPUOIBI S 800,000& x6& 4,800
—TN/TPA 2 Al 2k 1,500,000& *43] 6,000
—CD &= 1,500,000& *3& 4,500
—COD JIEtAZE 170,000 *5& 850
—=/ZE+E2H 1,200, 000& «2AHI E 2,400
— 322 & Al 3,200,000& *13] 3,200
O4AgAFH 7 A 4,800
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202 O4Hl 4,160 4,160 0
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203 ¥R =&l 1,000 1,000 0
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Odt=HMeIANEESRH AN & 1,000
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S0 E WX 4,270,000& 14 4,270
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OMED 7 803,000 *1CH 803
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Oo=2=dHel gEEHdelllx=d
23,000,000 = 1CH 23,000
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S Tt

el

o1 0 0
4 0p o
AL Ot >

SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
(©)E=3:] 2,778
O FINLRCI 2 (FLR)
1,389% %200 £ *103] 2,778
206 M=l 1,000 1,000 0
01 M=H| 1,000 1,000 0
OsAFL(HMEZHS) 200, 000& »58f A 1,000
401 Al&HIZL=ROHYI 27,603 30,000 A2,397
01 Al&H| 27,603 30,000 N2,397
OAxSAA=STHEIE WA 9,603, 000& 14 9,603
OMEIHAR A &X 18,000,000 * 14! 18,000
2atote=HMelAlE2dE 133,288 0 133,288
101 el 55,743 0 55,743
04 JIZHMIZ2XEE =+ 55,743 0 55,743
Ozlstot=XclY 2F22Y 55,743
OJl2s 60,0003 »2H 260 31,200
ORrasit=g 60,0003 x2H x52 6,240
OFg2fR=+H 90,000 x2H 632! 11,340
OdXtRsSFI= 60,000 x2H «12& 1,440
Ot Ml EE S 50,220,000 *28.15/1,000 1,414
O=30=Rg= 50,220,000& *0.045 2,260
Ons=2g*fg=a 50,220,000& *0.013 653
OHLZERES 50,220,000& *0.0238 1,196
201 LBt 3| 75,196 0 75,196
01 AtS 22/l 4,200 0 4,200
o=l 4,200
ORCIEHANA =2 150,000 «12& 1,800
Ot =2 200,000& «12& 2,400
02 =234l 70,996 0 70,996
0232= ¥ MAl 50,400
OXMeIANEHIIRS 4,000,000& =128 48,000
Oa+ER=s 100,000 «12& 1,200
Ostes 100,000& x12& 1,200
O A& EHI= Xl 20,596
OE=Z, 4= =3 ANERX el
2,596,000, 000& *0.001 2,596
O&I|IIAHAE SR 2L
3,600,000, 000& *0.005 18,000
206 M=l 2,349 0 2,349
01 M=H| 2,349 0 2,349
OM=H| 2,349
(OME--PAE=FSPN 6,500 *0.99kg*365& 2,349
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2N Mol AIE A
HH: 2B 22
ol Gl ed U e (cHol a2
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- T * - (= R wi e e o = 0:”/‘l|_% Wsa
ol & 2| 197,768 213,040 N 15,272
OlSot=SAIE2dg 22| 197,768 213,040 N 15,272
201 LEt2AH| 46,360 167,368 A 121,008
02 22394 46,360 40,680 5,680
02222 % HA 33,060
OARBEZEZoIE=HeANE &2
130,000 x 190 A 12 29,640
OAARZBZ20IE=X2AE BN FE A
90, 000! x 19l A 23| 3,420
OA&E &Y KX | 13,300
OARBRZ2Z26E=HelAIE JIHANESKE S
gl 700,000& 1900 & 13,300
202 O4d] 2,160 2,160 0
01 2Wobl 2,160 2,160 0
Oodt=S Al 2 20| 2,160
203 S 2=&H| 1,000 1,000 0
03 AHF=ANHI=AIH| 1,000 1,000 0
Oodte=E2HDIRol & 1,000
307 Glz2tol & 148,248 0 148,248
05 CI2IRAEZ 148,248 0 148,248
OALTHEBE2I26IEXEANE 2HAE 148,248
OARPZZ0t XA =2 AHI (213])
216,000 6 A x12& 15,552
OARBZ2ZZ20t XAl =& AHI(F=13])
200, 000& 9l A x523= 93,600
OANAESY olAH| 50,000 x2H 185! 18,500
OM=2Y A 49,000 * 190 A 45| x4H 14,896
OANAE &9 300,000 =194 A 5,700
ot HANS 3,308,000 477,000 2,831,000
= 2,875,000
o 433,000
ot HEHIAIE 3,208,000 377,000 2,831,000
= 2,875,000
o 333,000
401 AlEHIZLE0HY] 3,208,000 377,000 2,831,000
= 2,875,000
o 333,000
01 Al&H| 3,015,000 313,811 2,701,189
Ol S0l HEHIAIY 435,000
= 305,000
o 130,000
OHEHOI=Z HEHIAIS 281,000
= 196,000
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B 24 22
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_ _ _ N E
SA-BH - OA(B) - HRAY - BE2 O &t 04 Sl aton S[imE=Fh
= 85,000
O DA S5+ IH2E I F Bl AL 2,299,000
2 2,216,000
= 83,000
02 2eldl 190,000 59,189 130,811
O E B4 I F Bl AL RS 27,000
= 20,000
= 7,000
ONREIGH B Z AL 17,000
= 12,000
2 5,000
ODE S H2EH I ALY 146,000
= 126,000
= 20,000
03 Al R04Hl 3,000 4,000 A 1,000
OS54 2 H Bl AL eS 2,000
ONREIGH B FHI A 1,000
SHot=dBIA 100,000 100,000 0
401 AIEHIZ R0 100,000 100,000 0
01 A&l 100,000 100,000 0
SHol=C UMY 100,000
OSHot=2HEHIAS 100,000
St==X 2l & AS 7,271,000 12,729,000 25,458,000
= 4,096,000
= 300,000
S 1,027,500
= 1,847,500
Bt X2l Al = 8] 5,314,000 5,732,000 418,000
2 3,146,000
= 674,000
2 1,494,000
401 Al HI S HH 5,314,000 5,732,000 A418,000
= 3,146,000
= 674,000
= 1,494,000
01 AlZHI 5,035,000 5,697,433 A662,433
O EPIBH =T 2l Al & & X AL RS 4,915,000
= 2,952,000
= 633,000
= 1,330,000
ODERHEEHUIIIZ A (HH) 4T
120,000, 000& 14 120,000
02 el 276,000 34,567 241,433
OH BB T 2l Al & & Xl AL RS 276,000
= 194,000
= 41,000

|
©
|




FA dotr A A
J: B3+ 2e
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_ _ PSS
SN HABIH) - NRAY - BES Off 4k 04 Ofl At ot HluSZ
= 41,000
03 A&Z20HYI 3,000 0 3,000
ONFHGt=HelAMEEXIMNY 3,000
s EOISot=dBIAIE 1,357,000 2,744,000 A 1,387,000
= 950,000
s 203,500
o 203,500
401 AIEHIZ 20U 1,357,000 2,744,000 A 1,387,000
= 950,000
= 203,500
= 203,500
01 Al£HI 1,353,000 2,732,000 A1,379,000
Oy ESsHENSot=THHIAMY 1,028,000
= 721,000
= 154,500
= 152,500
OHAsHENISOI =S EAE 325,000
= 229,000
= 49,000
= 47,000
03 AE=0HYI 4,000 12,000 /8,000
O SsHELISot=ZEIAE 2,000
OHUsHEDISOI =S LA 2,000
DEMEMESISAE 600,000 1,000,000 400,000
& 300,000
= 150,000
o 150,000
401 Al&ZHI R HYI 600,000 1,000,000 400,000
& 300,000
= 150,000
o 150,000
01 Al£Hl 598,000 998,000 400,000
ONHMEMESSAE 598,000
= 300,000
= 150,000
Ea 148,000
03 A&=20HYI 2,000 2,000 0
ONddHNMEstEAE 2,000
Ay =3I 97,088 84,732 12,356
QA2 HHI (A5t ALY A) 4,200 4,200 0
2338 4,200 4,200 0
203 g S =& 4,200 4,200 0
04 FEA2SERFAHI 4,200 4,200 0
ORNZ2EHR2F2H| 350,000 x12& 4,200
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SN ABET AL
o H™2Y A
B9l JI2AH (Mo EAY ) (25l &2
SH-EH . C(BH) - NRAY - BES Off &F oA gggi; bRz
IR (M5t T AR 2) 92,888 80,532 2,356
2Bt o] 49,688 51,732 A2,044
201 Yer2 gyl 49,688 51,732 A2,044
01 A2l 47,844 47,79 50
CHEIRS=YI] 20,768
ORA2EI 248t 6,160
OSAMIIEL ()Y 300,000 «13]«2CH 600
OO HERIE I SHEH ()P
20,0009 23] *3CH 720
OO HITAEIIZAEH(SES) 7Y
400,000%! 181 *1CH 400
OMYIIEETY 1,30021 %301 * 122 468
OLHSHTIUHILMEL 300,000 «13] 300
O=SAMEX P 20,0002 ¥308¢ £ #33] 1,800
os84+7Y 140,002+ 122 1,680
OArZ AR 224D 212 120,002+ 122 1,440
OM&CANEEZ 600, 0002 * 122 7,200
osg+g 23,850
oY=yl 50,0002 %1% #1122 5,600
Oyl 50, 00021 #1% %3652 18,250
CEEE 3,226
ORA2EII 22| 3,226
02 IT2YH| 1,844 3,938 A2,004
CNPEETIESE 1,844
ORI ADI42] 300,0002 x28| x2CH 1,200
OZRIE 42l 34,0002 *43] 4TH 544
OmAST bl 1000002181+ 1CH 100
o1 43,200 28,800 14,400
202 o1t 43,200 28,800 14,400
01 2Uhoitl 43,200 28,800 14,400
0J1= R 40| 200, 0002 * 18% * 122 43,200
Hees 4,796,510 4,562,284 234,226
= 2,916,000
= 7,320
= 1,873, 190
AN KIS (TH S AR &) 4,796,510 4,562,284 234,226
= 2,916,000
= 7,320
2 1,873, 190
ASTSEINTED 1,866,410 1,607,810 258,600
= 7,320
2 1,859,090
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